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True-False Questions.

. () For the closed-loop linear system, the eigenvalues are the poles. (5%)

() Bounded-Input Bounded-Output (BIBO) stable implies asymptotically stable. (5%)
( ) Asymptotically stable implies Bounded-Input Bounded-Output (BIBO) stable. (5%)

. () Linear system is causal system. (5%)

Please draw the complete root loci of the following system for K =0 and find the range
of K for which the closed-loop system is stable. (20%)
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S(S+2)(S+5)

Please find the state feedback gains such that the eigenvalues of the closed-loop system
can be assigned to -3+ and —4 (20%)
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Please find the linearization system for the following nonlinear system with the operating
point (1,1) and find the range of X such that the linearization system is stable. (20%)
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